
1.  In a certain code language, BEAT is coded 
as GIDV. What will be the code for SOUP? 

 a)  XSXR 
 b)  XSSR 
 c)  XXXR 
 d)  WXYR 

2.  In a code language, 35796 is written as 
44887. Find the code for 46823. 

 a)  55914 
 b)  57194 
 c)  55934 
 d) 55745 

Directions: In question 3 and 4, there are two 
statements followed by two conclusions. You 
have to take these statements to be true even if 
they seem to vary from commonly known facts 
and then decide which of the given conclusions 
logically follows from the statements. 

Given answer 
 A  if only conclusion (a) follows; 
 B  if only conclusion (b) follows; 
 C if both (a) and (b) follows; 
 D  if neither (a) not (b) follows

3.  Statements- 
 I.  All men are chairs. 
 II.  All men are tables.  

 Conclusions-   a)  All men are tables. 
    b)  Some chairs are men. 
 a)  A 
 b)  B 
 c)  C 
 d)  D 
 

4.  Statements –  I.  All birds are parrot 
    II.  Shyam is a parrot. 

 Conclusions-  (a)  Shyam is a bird. 
    (b)  All parrots are bird. 
 a)  A 
 b)  B  
 c)  C 
 d)  D 
 

1- fdlh [kkl Hkk’kk dksM esa BEAT dks GIDV fy[krs 
gSaA bl dksM esa SOUP dSls fy[kk tk,xkA 

 a)  XSXR 
 b)  XSSR 
 c)  XXXR 
 d)  WXYR 

2- 35796 dks dksM Hkk’kk esa 44887 fy[kk tkrk gSA bl 
dksM iz.kkyh esa 46823 dks dSls fy[kk  tk,xk \

 a)  55914 
 b)  57194 
 c)  55934 
 d) 55745

funsZ’k % iz”u 3 vkSj 4 esa nks dFkuksa ds ckn nks fu’d’kZ 
fn, x, gSaA vkidks bu dFkuksa dks lR; ekuuk gS] Hkys gh 
os lkekU; :i ls Kkr rF;ksa ls fHkUu izrhr gksrs gksa vkSj 
fQj r; djsa fd fn, x, fu’d’kkZas esa ls dkSu lk fu’d’kZ 
dFkuksa dk rkfdZd :i ls vuqlj.k djrk gSA
fn;k x;k mÙkj %
 A)  ;fn dsoy fu’d’kZ (a) vuqlj.k djrk gS(
 B) ;fn dsoy fu’d’kZ (b) vuqlj.k djrk gS(
 C) ;fn nksuksa (a) vkSj (b) vuqlj.k djrs gSa
 D) ;fn u rks (a) vkSj u gh (b) ikyu djs(

3- dFku % 
 I. lHkh iq:’k dqflZ;k¡ gSaA
 II. lHkh iq:’k Vscy gSaA

 fu’d’kZ %
 a) lHkh iq:’k Vscy gSaA
 b) dqN dqflZ;k¡ iq:’k gSaA

 a) A 
 b) B
 c) C
 d) D

 

4- dFku % 
 I. lHkh i{kh rksrs gSaA
 II. “;ke rksrk gSA

 fu’d’kZ %
 a) ';ke ,d i{kh gSA
 b) lHkh rksrs i{kh gSaA

 a) A
 b) B
 c) C
 d) D
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5.  Girija, Isha, Shreya and Hema are sitting 
on a bench. Shreya has Hema next to her 
on left. Isha is sitting with Shreya and Girija 
on either side of her. Who sits at the extreme 
right? 

 a)  Hema 
 b)  Girija 
 c)  Isha 
 d)  Shreya 

6.  Complete the series: 17, 27, 37, 56, _____. 

 a)  49 
 b)  62 
 c)  78 
 d)  57 

7.  Complete the series: deb, ijg, nol, _____. 
 a)  rsq 
 b)  stp 
 c)  rst 
 d)  stq 

8.  Pointing to a photograph, a woman says, " 
This man's son's sister is my mother-in-law." 
How is the woman's husband related to the 
man in the photograph? 

 a)  Son-in-law 
 b)  Son 
 c)  Maternal Grandson 
 d) Nephew 

9.  Ravi is going towards the sun in the morning. 
While going, he turns left, then again left, 
then right, then left, then finally turns right. In 
which direction is he now from his starting 
point? 

 a)  West 
 b)  North 
 c)  South 
 d)  North-East 

th
10.  If 5  of the month falls 4 days after Sunday, 

th
what will be the day on the 16  of that 
month? 

 a)  Tuesday 
 b)  Monday 
 c)  Wednesday 
 d)  Sunday 

5- fxfjtk] bZ”kk] Js;k vkSj gsek ,d csap ij cSBs gSaA 
Js;k ds ckbZa vksj gsek gSA bZ”kk] Js;k vkSj fxfjtk ds 
lkFk cSBh gS] tks muds nksuksa vksj cSBh gSaA lcls 
nk;sa dkSu cSBk gS \

 a) gsek
 b) fxfjtk
 c) bZ”kk
 d) Js;k

6- J`a[kyk dks iwjk djsa % 17] 27] 37] 56] _____.

 a) 49
 b) 62
 c) 78
 d) 57

7- J`a[kyk dks iwjk djsa % deb, ijg, nol, _____. 

 a)  rsq 
 b)  stp 
 c)  rst 
 d)  stq 

8-  ,d rLohj dh vksj b”kkjk djrs gq, ,d efgyk 
dgrh gS] ßbl vkneh ds csVss dh cgu esjh lkl 
gSAÞ rLohj esa fn[k jgs iq:’k ls efgyk dk ifr 
fdl izdkj lacaf/kr gS \

 a) nkekn
 b) csVk
 c) ukrh
 d) Hkrhtk

9- jfo izkr%dky lw;Z dh vksj tk jgk gSA tkrs le; 
og ck,¡ eqM+rk gS] fQj ck,¡ eqM+rk gS] fQj nk,¡] fQj 
ck,¡] fQj var esa nk,¡ eqM+rk gSA vc og vius 
vkjafHkd fcanq ls fdl fn”kk esa gS \

 a) if”pe
 b) mÙkj
 c) nf{k.k
 d) mÙkj&iwoZ

10- ;fn eghus dh 5 rkjh[k jfookj ds 4 fnu ckn 
iM+rh gS] rks ml eghus dh 16 rkjh[k dks dkSu lk 
fnu gksxk \

 a) eaxyokj
 b) lkseokj
 c) cq/kokj
 d) jfookj
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11.  Identify the reasoning in the following 
argument: "A person without a goal is like a 
computer without programme." 

 a)  Hypothetical 
 b)  Deductive 
 c)  Inductive 
 d)  Analogical 

12.  What is common in hydrometer, lactometer 
and manometer? 

 a)  They are instruments 
 b)  They are units of measurement 
 c)  They are scales 
 d)  They are apparatus used in Chemistry 

th th
13.  In a class, M is 9  from the top, S is 8  from 

the bottom and R is exactly between them. 
If there are three children between M and 
R. Find out the total students. 

 a)  23 
 b)  24 
 c)  25 
 d)  27 

14.  Find odd one out among the following. 
 a)  Chameleon 
 b)  Fox 
 c)  Tortoise 
 d)  Snake 

15.  Which of the following is not a leap year? 
 a)  2006 
 b)  2012 
 c)  2020 
 d)  2028 

16.  Find the value of x in this matrix from the 
choices given below.

 a)  7 
 b)  11 
 c)  8 
 d)  9 

1 4 9

4 9 16

x 16 25

11- fuEufyf[kr dFku esa rdZ dh igpku djsa % 
 Þfcuk y{; okyk O;fDr fcuk izksxzke ds daE;wVj ds 

leku gSAÞ
 a) dkYifud
 b) fuxeukRed
 c) vkxeukRed
 d) laca/kkRed

12- gkbMªksehVj] ySDVksehVj vkSj eSuksehVj esa D;k 
leku gS \

 a) og midj.k gSa
 b) og eki dh bdkb;k¡ gSa
 c) og rjktw@ekid gSa
 d) og jlk;u foKku esa mi;ksx fd, tkus okys  

midj.k gSaA

13- ,d d{kk esa M Åij ls 9osa LFkku ij gS] S uhps ls 
8osa LFkku ij gS vkSj R muds Bhd chp esa gSA ;fn 
M vkSj R ds chp rhu cPps gSaA dqy Nk=ksa dk irk 
yxk,aA

 a) 23
 b) 24
 c) 25
 d) 27

14- fuEufyf[kr esa ls fo’ke dk irk yxk,aA
 a) fxjfxV
 b) ykseM+h
 c) dNqvk
 d) lkai

15- fuEu esa ls dkSu ,d vf/ko’kZ ugha gS \
 a) 2006
 b) 2012
 c) 2020
 d) 2028

16- uhps fn, x, fodYiksa esa ls bl eSfVªDl esa x dk 
eku Kkr dhft, A 

 a) 7
 b) 11
 c) 8
 d) 9

1 4 9

4 9 16

x 16 25
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17.  Find the correctly spelt word.
 a)  Abeyense
 b)  Abayance
 c)  Abeyence
 d)  Abeyance

Directions: In questions 18 and 19, there exists 
a certain relation between the first two words. 
The same relation also exists between third and 
fourth word. Out of these four words, one word is 
missing. Find out the missing word.

18.  Chapter: Book: :Flower : ?
 a)  Bud
 b)  Garden
 c)  Root
 d)  Bush

19.  Tall: Short : : Treachery: ?
 a)  Glory
 b)  Loyalty
 c)  Disgrace
 d)  Honour

20.  She was attacked by a ____ of wasps.
 a)  pack
 b)  swarm
 c)  suite
 d)  congregation

Directions: In question 21 and 22, three words 
are given with four alternatives. One of the four 
alternatives is same as the three words given in 
the beginning. Find the correct alternative 
answer.

21.  Which one is the same as Arid, Parched 
and Droughty?

 a)  Draft
 b)  Cow
 c)  Earth
 d)  Dry

17- fuEufyf[kr esa ls lgh spelling okys “kCn dks 
igpkfu,A

 a) Abeyense
 c) Abayance
 c) Abeyence
 d) Abeyance

funsZ’k % iz”u 18 vkSj 19 esa igys nks “kCnksa ds chp ,d 
fuf”pr laca/k gSA ;gh laca/k rhljs vkSj pkSFks “kCn ds chp 
Hkh gksrk gSA bu pkj “kCnksa esa ls ,d “kCn yqIr gSA ykirk 
“kCn dk irk yxk,aA

18- v/;k; % iqqLrd % % Qwy % \
 a) dyh
 b) cxhpk
 c) tM+
 d) >kM+h

19- yEck % NksVk % % fo”okl?kkr % \
 a) efgek
 b) oQknkjh
 c) vieku
 d) lEeku

20- ml ij rrS;k ds -------------------------- }kjk geyk fd;k 
x;k FkkA

 a) xÏh
 b) >q.M
 c) lsV
 d) e.Myh

funsZ’k % iz”u 21 vkSj 22 esa] pkj fodYiksa ds lkFk rhu 
“kCn fn, x, gSaA pkj fodYiksa esa ls ,d ogh gS tks 
“kq:vkr esa fn, x, rhu “kCnksa ds leku gSA lgh 
oSdfYid mÙkj [kkstsaA

21- bu esa ls dkSu lk Arid, Parched and Droughty ds 
leku gS \

 a)  Draft
 b)  Cow
 c)  Earth
 d)  Dry

4



22.  Which one is the same as Emancipate, 
Free and Release?

 a)  Ignore
 b)  Pardon
 c)  Liberate
 d)  Quit

23.  How many blocks make up the shape 
below?

 a)  28
 b)  26
 c)  25
 d)  18

Directions: In question 24 and 25, find one word 
which cannot be formed from the letters of the 
given words using each letter only once.

24.  PROGNOSTICATION
 a)  RONTGEN
 b)  START
 c)  SPITOON
 d)  ROGATION

25.  ORGANISATION
 a)  NATION
 b)  GRANT
 c)  RECOGNISE
 d)  SATAN

Directions: In the questions below (26-29), One 
statement is followed by four possible answers. 
One of these four possible answers verifies the 
truth of the statement. Choose the appropriate 
answer.

26.  A boy is sitting on the back seat of car. 
When the driver suddenly starts the car, the 
boy experiences a backward force_____.

 a)  Always
 b)  Sometimes
 c)  Often
 d)  Never

22- bu esa ls dkSu lk Emancipate, Free and 

Release ds leku gS \
 a) ignore
 b) Pardon
 c) Liberate
 d) Quit

23- dqy fdrus CykWd uhps nh xbZ dh vkd`fr dks cukrs 
gSa \

 a) 28
 b) 26
 c) 25
 d) 18

funsZ’k % uhps fn, x, iz”u ¼26&29½ esa ,d dFku ds ckn 
pkj laHkkfor mÙkj fn;s x;s gSaA bu pkj laHkkfor mÙkjksa esa 
ls ,d laHkkfor mÙkj dFku dh lR;rk dh iqf’V djrk 
gSA ml mi;qDr mÙkj dks pqusaA

26- ,d yM+dk dkj dh fiNyh lhV ij cSBk gSA tc 
Mªkboj vpkud dkj LVkVZ djrk gS] rks yM+ds dks 
,d ihNs dh rjQ cy dk vuqHko gksrk gSA

 a) ges”kk
 b) dHkh&dHkh
 c) vDlj
 d) dHkh ugha
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27.  Controversy always involve_____.
 a)  Dislike
 b) Injustice
 c)  Disagreement
 d)  Passion

28.  A song always has_____.
 a)  Word
 b)  Chorus
 c)  Musician
 d)  Tymbal

29. Which one of the following is always 
associated with “Justice”?

 a)  Hypocrisy
 b)  Magnanimity
 c)  Legitimate
 d)  Diminutiveness

Directions: Read the following passage and 
indicate the correct answer of the questions from 
30 to 33:

It is necessary to be clear about the definition 
and scope of the word science as also its 
distinction from technology. Among the few 
powerful forces that hold the key to the future 
mankind, science is perhaps the only important 
one that enjoys unique position of being 
accepted by all, practically without exception. 
Even in the case of those rare individuals who 
can seem to entertain an antipathy to science, a 
casual conversation with them will bring out the 
fact that they are actually opposed not to 
science, but to technology which is concerned 
with the applications of the findings of science to 
satisfy diverse human needs.

By science, we mean today the fundamental 
knowledge of our world and its environment, the 
controlled and steady pursuit of that knowledge 
in all aspects, without necessarily any desire to 
use it for public ends. And by technology, we 
refer to the numerous ways pressing science 
into human service, the concentrated study of 
the ways in which things may be made or 
changed for human ends. To made a concrete 
differentiation between the two, one can cite 

27- fookn esa ges”kk -------------------------- “kkfey gksrk gSA
 a) ukilan
 b) vU;k;
 c) vlgefr
 d) tquwu

28- ,d xhr esa ges”kk ----------------- gksrk gSA
 a) “kCn
 b) dksjl
 c) laxhrdkj
 d) fVEcy

29- fuEufyf[kr esa ls D;k ßU;k;Þ ls lnSo tqM+k gksrk 
gS \

 a) ik[kaM
 b) mnkjrk
 c) oS/k
 d) U;wurk

funsZ’k % fuEufyf[kr x|ka”k dks i<+sa vkSj iz”u 30 ls 33 
ds lgh mÙkj crk,aA

foKku “kCn dh ifjHkk’kk vkSj nk;js ds lkFk&lkFk] 
izkS|ksfxdh ls blds Hksn ds ckjs esa Hkh Li’V gksuk vko”;d 
gSA Hkfo’; dh ekuo tkfr dh daqth j[kus okyh dqN 
rkdroj “kfDr;ksa esa ls] foKku “kk;n dsoy ek= 
egRoiw.kZ gS ftls lHkh ds }kjk O;kogkfjd :i esa fcuk 
fdlh viokn ds Lohd`r gksus dh vuwBh fLFkfr izkIr gSA 
;gka rd fd mu nqyZHk O;fDr;ksa ds ekeys esa tks foKku ds 
izfr mnklhurk@?k`.kk dk fo”ks’k Hkko j[krs gSa] muds 
lkFk ,d vkdfLed ckrphr bl rF; dks lkeus yk,xh 
fd os okLro esa foKku ds fojks/k esa ugha gS] cfYd 
izkS|ksfxdh ds fojks/k esa gSa tks fd oSKkfud fu’d’kksZa ds 
fofo/k ekuo vko”;drkvksa dks iwjk djus ds fy, fd;s 
tkus okys vuqiz;ksxksa ls lacaf/kr gSaA

foKku ls vkt gekjk rkRi;Z fo”o vkSj mlds i;kZoj.k 
ds ekSfyd Kku ls gS vkSj ml Kku dk lHkh igyqvksa eas 
fu;af=r ,oa LFkk;h mi;ksx ftlesa ;g vko”;d ugha gS 
fd bl Kku dk lkoZtfud HkykbZ ds fy, mi;ksx fd;k 
tk,A izkS|ksfxdh }kjk ge foKku dks ekuo lsok esa iz;ksx 
djus ds dbZ rjhdksa dk mYys[k djrs gSa vkSj fdl izdkj 
ls ekuo miHkksx ds fy, pht+ksa dks cuk;k ;k cnyk tk 
lds] mudk xgjkbZ ls v/;;u djrs gSaA nksuksa ds chp 
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examples from the presently higher popular 
fields of nuclear science and technology. It is the 
science here when measurements are made of 
the number and nature of particles emitted in the 
break-up or fission of the nucleus of the heavy 
metallic element uranium. It is, however 
technology when this scientific knowledge is 
used either to design and build an atomic power 
station for generating electricity or to design or to 
make an atomic bomb. As such, it is technology 
which acquires ethical overtones and can be 
labeled as moral or immoral. Science is neutral 
or moral and can never be opposed to ethics or 
human welfare.

30.  In this passage, the writer is trying to:
 a) plead for a better attitude towards  

science
 b) suggest we apply science for public 

good
 c) study ethical science rather than 

physical science
 d) distinguish between science and 

technology

31.  According to the writer, science:
 a)  is the only force which determines the 

future of mankind
 b)  is one of the few determining forces of 

human destiny
 c)  will be the only concern of human 

beings in the future
 d)  is one of the many obstacles that block 

the progress of man

32. This passage is:
 a)  Rhetorical
 b)  Descriptive
 c)  Narrative
 d)  Expository

,d Bksl varj djus ds fy, ijek.kq foKku vkSj 
izks|ksfxdh ds orZeku esa mPp yksdfiz; {ks=ksa ds mnkgj.k 
fn, tk ldrs gSaA ;g foKku dgykrk gS tc Hkkjh /kkrq 
;wjsfu;e ds ukfHkd ds fo[kaMu ds nkSjku mRlftZr d.kksa 
dh la[;k vkSj mudh izd`fr dk ekiu fd;k tkrk gSA 
tcfd] ;g izkS|ksfxdh dgykrh gS tc bl oSKkfud Kku 
dk mi;ksx ;k rks fctyh iSnk djus ds fy, ;k ,d 
ijek.kq ÅtkZ LVs”ku ds fMtkbu vkSj fuekZ.k ds fy, ;k 
ijek.kqq ce cukus ds fy, fd;k tkrk gSA bl izdkj ;g 
izkS|ksfxdh gS tks uSfrd la/kHkZ izkIr djrh gS vkSj bls 
uSfrd ;k vuSfrd ds :i esa dgk tk ldrk gSA foKku 
rVLFk ;k uSfrd gS vkSj dHkh Hkh uSfrdrk ;k ekuo 
dY;k.k dk fojks/k ugha dj ldrkA

30- bl x|ka'k esa ys[kd -------------- dh dksf”k”k dj jgk 
gS A

 a) foKku ds izfr csgrj n`f’Vdks.k ds fy, 
vuqjks/k

 b) lq>ko ns jgk gS fd ge lkoZtfud HkykbZ ds 
fy, foKku dk mi;ksx djsa

 c) HkkSfrd foKku ds ctk; uSfrd foKku dk 
v/;;u djsa

 d) foKku vkSj izkS|ksfxdh ds chp varj djsa

31- ys[kd ds vuqlkj] foKku -------------------A
 a) ,dek= “kfDr gS tks ekuo tkfr ds Hkfo’; dks 

fu/kkZfjr djrh gS
 b) ekuo fu;fr dks fu/kkZfjr djus okyh dqN 

“kfDr;ksa esa ls ,d gS
 c) Hkfo’; esa euq’; dh ,dek= fnypLih okyk 

eqÌk gksxk
 d) euq’; dh izxfr dks vo:) djus okyh dbZ 

ck/kkvksa esa ls ,d gS

32- ;g x|ka”k gS %
 a) vkyadkfjd
 b) o.kZukRed
 c) dFkkRed@y?kq miU;klRed
 d) vFkZizdk”kd
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33.  The study of fission of the nucleus of 
uranium can be:

 a)  Thought of as an example of modern 
technology

 b)  Thought of as an example of principle of 
electricity

 c) Thought of as having no moral 
implication

 d)  Thought of as important to the welfare of 
all human

34. Which of the following schools has not 
accepted anumana (inference) as a valid 
source of knowledge?

 a)  Advait Vedant
 b)  Vishisht advait
 c)  Charvak
 d)  Saankhy

35. “All elephants are animals”, this is an 
example of which type of proposition?

 a)  Particular Negative
 b)  Particular Affirmative
 c)  Universal Affirmative
 d)  Universal Negative

Directions: Read the following passage and 
answer the questions from 36 to 40:

The function of education is to prepare young 
people to understand the whole process of life. 
The end of education is not merely to pass some 
examinations and get a job and earn one’s 
livelihood. If education is to make people 
understand life, then surely life is not merely a job 
or an occupation, where life is something 
extraordinarily wide and profound, it is a great 
mystery, a vast realm in which we function as 
human beings. If we prepare ourselves only to 
earn a livelihood, we shall miss the whole point of 
life. To understand life is much more important 
than to get a degree or pass an examination for a 
job. Life, with all its subtle ties, is such a vast 
expanse. It has its extraordinary beauty, its 
sorrows and joys. It also has its hidden things of 
the mind, such as envies, ambitions, passions, 
fears, fulfillments and anxieties. The birds, the 
flowers, the flourishing trees, the heavens, the 

33- ;wusfu;e ds ukfHkd ds fo[kaMu dk v/;;u ------------
gks ldrk gSA

 a) vk/kqfud izkS|ksfxdh ds ,d mnkgj.k ds :i esa
 b) fctyh ds fl)kar ds ,d mnkgj.k ds :i esa
 c) dksbZ uSfrd fufgrkFkZ ugha gksus ds ckjs esa
 d) lHkh euq’;ksa ds dY;k.k ds fy, egRoiw.kZ

34- fuEufyf[kr esa ls fdl ,d n”kZu us vuqeku 
¼vuqefr½ dks Kku ds oS/k L=ksr ds :i esa Lohdkj 
ugha fd;k gS \

 a)  v}Sr osnkar
 b) fof”k’Vk}Sr
 c) pkokZd
 d) lka[;

35- ßlHkh gkFkh tkuoj gSaÞ] ;g fdl izdkj dk ,d 
mnkgj.k gS \

 a) fo”ks’k udkjkRed
 b) fo”ks’k ldkjkRed
 c) lkoZHkkSfed ldkjkRed
 d) lkoZHkkSfed udkjkRed

funsZ’k % fuEufyf[kr x|ka”k dks if<+, vkSj 36 ls 40 rd 
ds iz”uksa ds mÙkj nhft, %

f”k{kk dk dk;Z ;qokvksa dks thou dh iwjh izfØ;k dks 
le>us ds fy, rS;kj djuk gSA f”k{kk dk var dsoy dqN 
ijh{kk,a ikl djuk] ukSdjh ikuk vkSj viuh vkthfodk 
vftZr djuk gh ugha gSA ;fn f”k{kk }kjk yksxksa dks thou 
ds ckjs esa le>kuk gS] rks fuf”pr :i ls thou dsoy ,d 
ukSdjh ;k O;olk; ugha gS] cfYd thou vlk/kkj.k :i ls 
O;kid vkSj xgjk gS] egku jgL; gS] ,slk fo”kky {ks= gS 
ftlesa ge euq’; ds :i esa dk;Z djrs gSaA vxj ge dsoy 
vkthfodk dekus ds fy, [kqn dks rS;kj djrs gSa] rks ge 
thou ds lEiw.kZ vFkZ ls pwd tk,axsA thou dks le>uk] 
fMxzh izkIr djus ;k ukSdjh ds fy, leh{kk ikl djus ls 
dgha vf/kd egRoiw.kZ gSA thou] viuh lHkh lw{erkvksa ds 
lkFk] cgqr fo”kky foLrkj gSA bldh viuh ,d 
vlk/kkj.k lqanjrk gS] rFkk vius gh nq[k vkSj vkuan gSaA 
blesa eu dh fNih gqbZ vkdka{kk,a Hkh gSa] tSls bZ’;kZ] 
egRokdka{kk] tquwu] Hk;] iwfrZ vkSj fpark,aA i{kh] Qwy] 
Qyrs&Qwyrs isM+] vkdk”k] rkjs] ufn;k¡ vkSj eNfy;k¡] 
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stars, the rivers and the fishes therein all this is 
life. When we are young, we must seek and find 
out what life is all about. Thus, we cultivate 
intelligence with the help of education. 
Intelligence is the capacity to think freely, without 
fear, without a formula, so that we begin to 
discover for ourselves what is real and what is 
true. Anyone who is gripped with fear will never 
be intelligent. Most of us have fear in one form or 
another. Where there is fear, there is no 
intelligence. Thus, what education should do is 
help us understand the need of freedom. Unless 
we are free, we will not understand the whole 
process of living. When we are free, we have no 
fear. We do not imitate but we discover.

36.  What is the adverse effect of fear on 
humans?

 a)  We understand life’s great mystery.
 b) We are not able to develop our 

intelligence.
 c)  We think freely.
 d)  We see the vast expanse of life.

37.  The aim of education is to make us realize 
the need of_______.

 a)  Understanding science
 b)  Freedom
 c)  Jobs
 d)  Passing examinations

38.  When we are young, we should______.
 a)  Seek the meaning of life
 b)  Study and get a degree
 c)  Try for a good job
 d)  Study science

39.  Education helps us realize the_______.
 a)  Way to develop our career
 b)  Need for good health
 c)  Meaning of fear
 d)  Necessity of freedom

;g lc thou gSA tc ge NksVs gksrs gSa] rks gesa ;g 
[kkstuk pkfg, vkSj irk yxkuk pkfg, fd thou D;k gSA 
bl izdkj] ge f”k{kk dh lgk;rk ls cqf) dk fodkl 
djrs gSaA cqf)erk fcuk fdlh Mj ds] fcuk fdlh lw= ds 
Lora= :i ls lkspus dh {kerk gS] rkfd ge vius fy, 
;g irk yxk ldsa fd okLrfodrk D;k gS vkSj lR; D;k 
gSA tks dksbZ Hkh Hk; ls xzflr gS] og dHkh Hkh cqf)eku ugha 
gks ldrkA geesa ls vf/kdka”k yksxksa dks fdlh u fdlh 
:i esa Hk; gksrk gSA tgka Hk; gS] ogk¡ cqf) ugha gSA vr%] 
f”k{kk dks ;g djuk pkfg, fd ;g ges Lora=rk dh 
vko”;drk dks le>us esa enn djsA tc rd ge Lora= 
,oa Hk;eqDr ugha gksaxs] rc rd ge thou dh iwjh izfØ;k 
dks ugha le> ik,axsA tc ge Lora= gksrs gSa] rks gesa dksbZ 
Mj ugha gksrkA ge udy ugha djrs gSa] cfYd ge [kkstrs 
gSaA

36- euq’;ksa ij Hk; dk D;k nq’izHkko iM+rk gS \
 a) ge thou ds egku jgL; dks le>rs gSaA
 b) ge viuh cqf) fodflr djus esa l{ke ugha gks 

ldrs gSaA
 c) ge Lora= :i ls lksprs gSaA
 d) ge thou ds fo”kky foLrkj dks ns[krs gSaA

37- f”k{kk dk mÌs”; gesa ------------------ dh vko”;drk dk 
,glkl djkuk gSA

 a) foKku dks le>uk
 b) Lora=rk
 c) ukSdfj;ka
 d) ijh{kk mÙkh.kZ djuk

38- tc ge NksVs gksrs gSa rks gesa ----------- djuk pkfg,A
 a) thou ds vFkZ dh ryk”k djsaA
 b) v/;;u djsa vkSj fMxzh izkIr djsa
 c) ,d vPNh ukSdjh ds fy, iz;kl djsa
 d) foKku dk v/;;u djsa

39- f”k{kk gesa --------------- eglwl djus esa enn djrh gSA
 a) gekjs dfj;j dks fodflr djus esa
 b) vPNs LokLF; dh vko”;drk
 c) Hk; dk vFkZ
 d) Lora=rk dh vko”;drk
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40.  The passage is about________.
 a)  Education
 b)  Freedom
 c)  Intelligence
 d) Livelihood

Directions: In the following given questions (41-
44), four alternatives have been given. Select the 
most appropriate alternative as the answer.

41.  While going on a scooter, you find 
someone who has been hurt by your 
vehicle, you would_______.

 a) Try to run away from the spot 
immediately

 b)  Stop your vehicle and say ‘I am sorry.’
 c)  Take him to the doctor and arrange for 

his medical aid.
 d)  Pay compensation for the injury and in 

this way try to dispose of the matter

42.  If in your office, you feel your subordinates 
got furious due to some of your action, you 
would_____.

 a)  call few of them in your office and hear 
them patiently

 b) take disciplinary action against the 
influential subordinates

 c)  inform your superiors about the 
situation and seek their advice

 d)  play ‘divide’ and ‘rule’ policy

43.  You are returning home from school. On 
the way, you find a sealed envelope in a 
street, fully addressed with unused stamps 
on it. You would ________.

 a) leave it there as it was and walk away.
 b) remove the stamps and destroy the 

envelope.
 c) open the envelope, find out who has 

dropped it by mistake, and send it to him if 
possible.

 d) post it at the nearest letter box.

40- ;g ifjPNsn ---------------- ds ckjs esa gSA
 a) f”k{kk
 b) Lora=rk
 c) cqf)
 d) vkthfodk

funsZ’k% uhps fn, x, iz”uksa ¼41&44½ esa pkj laHkkfor 
mÙkj fn, x, gSaA mÙkj ds :i esa lcls mi;qDr fodYi 
dk p;u djsaA

41- LdwVj ij tkrs le;] vkidks dksbZ ,slk O;fDr 
feyrk gS ftls vkids okgu ls pksV yxh gks] rks 
vki -----------------A

 a) rqjar ekSds ls Hkkxus dh dksf”k”k djsaxs
 b) viuk okgu jksdsaxs vkSj dgsaxs *eq>s [ksn gSA^
 c) mls MkWDVj ds ikl ys tk;saxs vkSj mldh 

fpfdRlk lgk;rk dh O;oLFkk djsaxs
 d) pksV ds fy, eqvkots dk Hkqxrku djsaxs vkSj 

bl rjg ekeys dks fuiVkus dk iz;kl djsaxs

42- ;fn vkids dk;kZy; esa vkidks yxrk gS fd vkids 
v/khuLFk vkids fdlh dk;Z ds dkj.k Øksf/kr gks 
x, gSa rks vki --------------- djsaxsA

 a) muesa ls dqN dks vius dk;kZy; esa cqyk,axs 
vkSj mUgsa /kS;ZiwoZd lqusaxs

 b) i z H k ko” k kyh v/k huLF k k s a  d s f[ kykQ 
vuq”kklukRed dk;ZokbZ djuk

 c) vius ofj’Bksa dks fLFkfr ds ckjs esa lwfpr djsaxs 
vkSj mudh lykg ysaxs

 d) *QwV Mkyks^ vkSj *“kklu djks^ dh uhfr 
viukvksxs

43- Ldwy ls ?kj ykSVrs le; jkLrs esa vkidks ,d xyh 
esa ,d lhycan fyQkQk feyrk gS] ftl ij iwjh 
rjg ls viz;qDr fVdVksa ds lkFk lacksf/kr fd;k 
x;k gSA vki --------- djsaxsA

 a) bls ogha NksM+ nsaxs vkSj pys tk,axs
 b) fVdVksa dks gVk nsaxs vkSj fyQkQs dks u’V dj 

nsaxs
 c) fyQkQk [kksysaxs] irk djsaxs fd bls xyrh ls 

fdlus fxjk;k gS vkSj ;fn laHko gks rks mls 
Hkst nsaxs

 d) bls fudVre ysVj ckWDl esa iksLV djsaxs
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44- vk/kh jkr dks vkius dbZ yksxksa ds fpYykus dh 
vkokt lquh] Þvkx] vkxß vki -------------- djsaxsA

 a) vkx cq>kus ds fy, ikuh dh ckYVh ysdj dejs 
ls ckgj Hkkxsaxs

 b) Qk;j fczxsM LVs”ku dks Qksu dj vf/kdkfj;ksa 
dks lwfpr djsaxs

 c) rc rd lksuk tkjh j[ksaxs] tc rd vkidks 
dksbZ cqyk;s ugha

 d) lqfuf”pr djsaxs fd vkx dgk¡ yxh gS vkSj 
fdl gn rd

45- ,d Ldwy esa yM+dksa vkSj yM+fd;ksa dk vuqikr 3%2 
gSA 20% yM+ds vkSj 25% yM+fd;ka Nk=o`fÙk 
/kkjd gSaA Nk=o`fÙk /kkjd Nk=ksa dh dqy la[;k 
fdruh gS \

 a) 45
 b) 35 
 c) 60
 d) 22

46- ,d vkneh 3 fnuksa esa ,d xM~<+k [kksnrk gS] nwljk 
vkneh bls 5 fnuksa esa [kksn ldrk gS vkSj rhljk 
vkneh dke djrs gq, bls 6 fnuksa esa [kksn ldrk 
gSA os bl xM~<s dks ,d lkFk [kksnus esa fdruk 
le; ysaxs \

 a) 10@7 fnu
 b) 30@13 fnu
 c) 19@30 fnu
 d) 21@30 fnu

47- 24 Nk=ksa dh vkSlr vk;q 15 o’kZ gSA ;fn f”k{kd dh 
vk;q “kkfey dh tk;s rks vkSlr vk;q esa 1 o’kZ dh 
o`f) gksrh gSA f”k{kd dh vk;q Kkr dhft,A

 a) 40 o’kZ
 b) 45 o’kZ
 c) 24 o’kZ
 d) 18 o’kZ 

48- ;fn 20/X= X/45 rks X dk eku Kkr dhft, A
 a) 25
 b) 27
 c) 45
 d) 30

44.  At midnight, you heard the voice of several 
persons shouting, “Fire, Fire,” You 
would______.

 a) rush out of the room with buckets of 
water to extinguish the fire

 b)  ring to the fire brigade station and inform 
the officials.

 c)  continue to sleep, till you called for
 d)  ensure where the fire had taken place 

and to what extent

45.  The ratio of boys and girls in a school is 3:2. 
20% of boys and 25% of girls are 
scholarship holders. Find the total number 
of students who are scholarship holders?

 a)  45
 b)  35
 c)  60
 d)  22

46.  A man digs a pit in 3 days, another man can 
dig it in 5 days and third man can dig it in 6 
days working alone. How much time will 
they take to dig it together?

 a)  10/7 days
 b)  30/13 days
 c)  19/30 days
 d)  21/30 days

47.  Average age of 24 students is 15 years. If 
teacher’s age is included, the average age 
is increased by 1 year. Find the age of 
teacher?

 a)  40 years
 b)  45 years
 c)  24 years
 d)  18 years

48.  If 20/X= X/45, then find the value of X?
 a)  25
 b)  27
 c)  45
 d)  30
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49.  An umbrella was sold at a profit of 20%. 
What is the selling price of the umbrella if 
the shopkeeper procured it at a cost of Rs. 
180?

 a)  210
 b)  216
 c)  230
 d)  236

50. Find Simple Interest on ₹ 6250 at 14% per 

annum for 146 days. 
 a) ₹ 350 

 b)  ₹ 450 

 c)  ₹ 550 

 d)  ₹ 650

51.  The least perfect square, which is divisible 
by each 21,36 and 66 is____.

 a)  213444
 b)  214344
 c)  214434
 d)  231444

52.  If 5 x 8 = 28, 3 x 7 = 12, 8 x 6 = 35, then find 
the value of 13 x 13?

 a)  169
 b)  130
 c)  140
 d)  144

53.  The difference between the length and 
breadth of a rectangle is 23 meter. If its 
perimeter is 206 m, then it’s area will 
be_____.

2
 a) 2420 m

2 b) 2480 m
2 c) 2520 m
2

 d) 1520 m

54.  A train whose length is 320 m is running at a 
speed of 36 kmph. How much time will it 
take to pass a pole?

 a)  30 second
 b)  32 second
 c)  36 second
 d)  40 second

49- ,d Nkrk 20% ds ykHk ij cspk x;kA Nrjh dk 
foØ; ewY; D;k gS ;fn nqdkunkj us mls :0 180 
esa [kjhnk Fkk \

 a)  210
 b)  216
 c)  230
 d)  236

50- ` 6250 ij 14% izfr o’kZ dh nj ls 146 fnuksa ds 
fy, lk/kkj.k C;kt Kkr dhft,A 

 a) ` 350
 b) ` 450
 c) ` 550
 d) ` 650

51- lcls NksVk iw.kZ oxZ tks 21] 36 vkSj 66 lHkh ls 
foHkkT; gS] dkSu lk gS \

 a) 213444
 b) 214344
 c) 214434
 d) 231444

52- ;fn  5 x 8 = 28, 3 x 7 = 12, 8 x 6 = 35 rks 13 x13 dk 
eku Kkr dhft,A

 a) 169
 b) 130
 c) 140
 d) 144

53- ,d vk;r dh yackbZ vkSj pkSM+kbZ ds chp dk varj 
23 ehVj gSA ;fn bldk ifjeki 206 ehVj gS] rks 
bldk {ks=Qy ----------- gksxk A

2 a) 2420 m
2 b) 2480 m  
2 c) 2520 m  
2 d) 1520 m  

54- ,d Vªsu ftldh yackbZ 320 ehVj gS] 36 fdeh izfr 
?kaVs dh xfr ls py jgh gSA ,d iksy dks ikj djus 
esa Vsªsu fdruk le; ysxh \

 a) 30 lsdsaM
 b) 32 lsdsaM
 c) 36 lsdsaM
 d) 40 lsdsaM

12



55- (10+√25)(12-√49) dk oxZewy -------------- gSA
 a)  4√3
 b)  3√3
 c)  5√3
 d)  2√3

56- 1 izfr”kr dk vk/kk] n”keyo ds :i esa ------------ 
fy[kk tk;sxkA

 a)  0.005
 b)  0.05
 c)  0.2
 d)  0.02

 

57- vxj fctyh fcy dk 10% dkV fy;k tkrk gS] rc 
Hkh 45 :i;s dk Hkqxrku djuk ckdh gSA dqy fcy 
fdruk Fkk \

 a)  ` 50
 b)  ` 45
 c)  ` 55
 d)  ` 57

58- 1 ls 55 rd lHkh izkd`r la[;kvksa dk vkSlr Kkr 
dhft,A

 a)  30
 b)  28
 c)  28.5
 d) 32

59- nks la[;kvksa dk vuqikr 5%6 gS vkSj mudk ,y-lh-
,e- ¼y?kqre lekioR;Z½ 480 gS] rks mudk egÙke 
lekiorZd ¼,p-lh-,Q-½ D;k gksxk \

 a)  67
 b)  16
 c)  56
 d)  66

60- rhu la[;kvksa dk vkSlr 77 gSA igyh la[;k nwljh 
la[;k dh nqxquh gS vkSj nwljh la[;k rhljh la[;k 
dh nqxquh gSA igyh la[;k Kkr dhft,A

 a)  132
 b)  130
 c)  77
 d)  78

55. The square root of (10+√25)(12-√49) 
is_____.

 a)  4√3
 b)  3√3
 c)  5√3
 d)  2√3

56.  Half of 1 percent, written as a decimal, 
is_____.

 a)  0.005
 b)  0.05
 c)  0.2
 d)  0.02

57.  If 10% of electricity bill is deducted, ₹ 45 is 

still to be paid. How much was the bill?
 a)  ₹ 50

 b)  ₹ 45

 c)  ₹ 55

 d)  ₹ 57

58.  Find average of natural numbers from 1 to 
55.

 a)  30
 b)  28
 c)  28.5
 d) 32

59.  The ratio of two numbers is 5:6 and their 
L.C.M. is 480, then their H.C.F is?

 a)  67
 b)  16
 c)  56
 d)  66

60.  The average of three numbers is 77. The 
first number is twice the second and the 
second number is twice the third. Find the 
first number.

 a)  132
 b)  130
 c)  77
 d)  78
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